ge:};k‘q WSL}QLQ\\‘ TCVV‘\\Q g
/‘1%;(*):1,5 c O\ -1 =T _ e 4 PEs

2xtsUx +\0 Convergence plot

»6‘0;) = 40-

R 2 b(") 35 -
J§5\ (XK) 30

254
XOZ"B\X—Z\’Q .2{]_
X\ = \,}gng A 15 A
x"= V4o 9 10
: ;]
e\ 56348 )
. ‘-\_: \ 56%%4 12 2:9
Wc)(: 'SOm\\‘on ATENNY .
g~ SavaleNe

. (o on Gouss quadeaiure ;
; /S NIRRT O\
u> A Dl ordar O&MWQ el RIEAL o ISR o by J?S ‘\%

A N\ MA&&
%:'?.v\&\ = Nz A = To6 o = R e Q’ AN

S Adyp = A= Wo (¥} [
5 (\ wo = l?-—

\ M_L:wc—w%\m%\ \\
5 T2 \e\ww\":\u s%s\em W = ;z |
D\ Eoy k ZD:%LS“‘\\?)

i o AU
5(')1'}\5(:%\\00@ \ %L:‘\—_(g-&)
\ 2

W na dn L\Q\(CR&OG
\3) Gokn l\‘\\l L\ *’{{\)0&9\\\ %@EL{C\ Qod\ks C\‘"\‘s Fsi\;b. \(O o\a\mu» 3«0\ ordar O\ R
be (st K\SQw\Vo«-LleO on\\« £ ueres 5 poui

——————

y A dy = A= U0 TN LWz TWD

2
| woe = 3
o '5\01 ey =X
i \ Wo & \;U;_’\_‘\“ v___—-.'\" Wiz —
\/\5\‘& = e S = u %
\ 2 w2 Teong e sy
& . &,\\MMZ) \‘\ mo - :%
y 2 \‘o A \1.\ ‘\ nok Y{C\U\X‘QO\
0 S
Trwz +wy | ——
' L wo R T Y,
X \AB d‘* - XC\ b \.\ Qé o
0



5.

@) ney pan pocaks Fro % {romz0 Yozn =) Ordac o) Mo pplronned ik egrated
QXG&\LX well Zn\-\

L) N= 19 Ocdar oz\\vh ﬁo\&(vwmr& N‘US(Q\{& QXQ&\W £ 2l =3

W i i . R o Q\'Qé\ oy
) [ o ot e TR by e T sy

1

A( bavk en ewor

O\klf\\)\\ ordr % /' \'\ML W\r \Q(‘W\S WL

_1 . .‘
4.4) } W2 de o Order <« & = =¥ Gn b k’m\?a\ﬁd\ w&\\(

o A
. d
.444/
(&4

1
Ay -2 dy = E\F(&\VN ~NT% ' e R
) é Y x | %N?W )

( | |
WA Ordar LY 9 Tk an (‘,@w])u\&é\ e




e K
& :S \lx&x Y, 17,2 ) E)X'S.s‘.’&)g/ Adox
(o]

&
A

O‘) Tro%u;ggc)@& . cuer 2 cnxerweds s o
b | | -
x) A Y \‘\ ' (ot by (L w;\r\/\k = —
Oj ’g()&\x ME{%\&)&Z%(&&\)*J}S )—\ \312/,
.XQw\Z /(*/\\:ngw\:o
(,\ A

p = . _ 2 Eoa= Oy YA
Z———;{O&Z%«W]-@SBZS/ o
T \qu?:océo& ada cakeapeles szeu;:\;\i W&a Ask ordar - P\NL‘WO&S

) Sk s colg o 2 wOverwols
a~g

3 %C"\)éxxw\“\ KJ&M* G3lanh)x )N)} m\\f\\‘“ﬂ:\\l

e L (03234 )=6; Emz0

2 ® __\__(_D ¥ \3 \—}\ =415 . exee= O
5 2 5
S‘N\Q&o(\i\ ru\& \‘N‘Qﬁé‘(’w\k% -on,'&k\xi \Mﬁ \TD 3 ofdar %b\\.\v\ﬂ\'\k S

O i .
) =\
W L%LQ)*h\a&(c\x\n) ) Uo - \‘\/\\\ L.;

'(1‘ ‘S’L

b
€\'m)(son3 ro\L S X&ﬂ dx =
a

3% ‘*»C\\ﬁ%(\;, = b BE § T D 3
\ne \‘«3%1(\&\&‘5 axeRy-

AN, {Qt\f\b\ Ak Ron A\ Q\D\»\V\Oww'



	Diapositiva 1
	Diapositiva 2
	Diapositiva 3

